1) Esit arabkl noktalann yer aldifn asafndaki say
dogrusunda B ile gostenlen nokta hangi sayiyr temsil
etmektedir?

(In the following number line with evenly spaced points,

which of the following is point B?)
<+ . - i i g i d
B 5
19 1 gl p gt
A) . B) 3 C) 5 D) - E) 3

2) 3n+S say1s: gift ise agagdakilerden hangisi tek sayidir?
(If 3n+5 is an even number, which of the following is an
odd number?)

AT di.l‘?
o-digit number are reversed, the

012 D) 13 B)14

- 3
L ‘-’!ﬁ

e AN E

ot il s g ol ol SIWT T 4 B

4) abe
X 34

ol def
4284
Yukandaki garpma islemine gore d+e-f i
kagtir?
(According to multiplication above, what i

A)2 B)3

numbers, if 4a+b=122,
of b?)
©) 118 D) 119 E) 120
g
6) (48)". (25)° say1si kag basamakhdur? |
(How many digits are the result of (48)". 25)*?)
A) 12 B) 13 )14 D) 15 E)l6
I {\,q l J A .



|

C YABANCI OGRENCI SINAVI s

A e ile ilgili agafdaki bilgiler veriliyor
b

-Paydasindan 2 gikarildiginda yansma esit oluyor.
-Paymna 7 eklendiginde bir batin oluyor.
Buna gore, a + b toplaminin degeri kagur?

10)
G e 2 7|
Rldn A
2+ > H+(2+3)= 3
isleminin sonucu asafidakilerden hangisidir?

(The following information is given about the fraction T (Which of the following does the answer oper:
If we subtract 2 from its denominator, it is equal to its half o _]_
If we add 7 to its numerator, it becomes a whole. 2

So,what is at+b?)

A) 13 B) 14 C)15 D) 16 E) 17

1) Uslafs
8) Asagdaki ifadelerden hangilen yanhstir? yanhgtr? | ok
I. Ondalikl: sayilarda basamak sayisi artukea sayinin degeri 1. Her saymmmn sifinnet kuvvét (asst) 1'dir
artar. 1. Us artuk¢a saymin degefiner zaman artar
IL. Her ondalikli sayinin rasyonel savi olarak bir karsihg Her say1 tslo say tolarak ifade edilebilir

vardir,
ITL. Ondalikli sayilar her zaman 1 den kuguktur.
IV. Battin devirli sayilar rasyoneldir.

(Which of the following statements are incorrect?
L. As the number of digits increases mdeclmal pum

value of the number increases.

II. Each decimal number is a rational ni
IL Decimal numbers are always less thi
IV. All the repeating decimals are ration

y owing does the answer ol'

A5 012 :
1.3 0.25 003
A)35 B) 33 C) 31 D) 29

Uslit sayilarda

€ 2 exponcnt of a number 1s equal to |
I the exponent of a number increases, the value of the
N always increases.
1%, 1. Each number can be written as an exponential number

© IV. When two exponential numbers are divided, their
exponents are also divided each other.)

A) Yanhz I (Only1)  B) Yanhz II (Only I1) On-ur
D)1 -1V E)I-II-1V

12)7/5400 sayisinin yaklagik degerinin bulunmas igin a
sorulardan hangisine cevap bulunmasi gerekir? '
(To find the approximate value of V5400, which of the
following problem should be solved?

il B).\@'inynkln;:kdcﬁu'ik_am? wuwm

D)\/E’myaklwk :
iy dﬁ;ﬂ m".




13) x<3 olmak Ozere ||x-3+x|+2x-3 ifadesinin esiti
asadakilerden hangisidir?

(If x<3, then which of the following is equal to
||-x-3]+1|+21-3)

A)x B) x+1 C)x-1 D) 2x E) 2x+1

14)
M igleminin sonucu kagtir?

(-6)2.(-3)

- & e
(What is the answer of ———~— ?)
(6)2.(-39)

16, . :
) ' ﬂ\s'y -W -% i

nyllmdoﬁusuﬂmmmbm nangisidir’

(Which of the following does the correet order of 1,2?)

A) x{y(z B) z{y(x
D)z = ylx E) y(x(z

]
ir
18) 58 ghq .
THoada © @a e
ifadesinin en sade bigimi asag gisidir?
(Which of the following does
a’-8 3“4 ?)
a‘-kZa’Ma a‘-l-k

| th.g Al
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19) (x+ IIX)=XH2x-5+3f(x+1) oldugtuna gore f(1) kagtur?
(If (x+1)f(x)=x242x-5+3f(x+1) then what is the value of
f(1)?)

Dt e B2 Cleaead)sl. Bl
3 2 2

20) Asagida verilen grafiklerden kag tanesi bir fonksiyonun
grafigi olabilir?

(How many of the following shapes can be a graph of a
function?

Y

=

L &

A)l

iyonun tamm kimesi A, gortinti kiimesi B
: ANB kumesinin ka¢ farkh tamsay: elemam

(The graph of f(x) is given above. If the domain of this
mu;m the image is B, then how many different

ues have the ANB?)

B2 O3 D4 ps

22) Asagidaki ifadelerden kag tanesi polinom belirtir?
(How many of the following statements are palymlﬂ?g
I V2xi+x-2
1
IL 4x'-~

IL. 8
IV. /x+4

Y .’l,;,ﬁ+ex+\/§

A)l B) 2 03

C}—'l-g' D) 1+ > E)t+1

g
24) Asapdaki trigonometrik degierlerin isaretleri hangi
segenekte sirastyla dogru verilmigtir?

(Which of the following does the correct
respectively, rortbe:lguomew'

Sin 140°, Cos220°, tan279°, cot315®

A)t++++
D)---+



25) cota 4 1S9 ifadesinin dzdesi asagidakilerden
hangisidir? o

(Which of the following does equal to cota -+ i)y
A) 2125in0) (2+2Sina) B) Sina Q) (1+2Sina)
“Sin2a Sm2a 28mn2a
)(1+2Cosa) g) {1-28ina) (1-2Sina)
Sina “Cosa

26) f(x)=Sinx+1 fonksiyonunun grafifimin [0.x] araligindaki
grafigs asapidakilerden hangisidir?
(Which of the following is the graph of f(x)=Sinx+1 in [0.1] 7)
A) B) 2 ]
ZT IS,
ra X,
P = -"‘\. - 7 \\
-z S &\
e ﬂ 1l A
o R Wa—— |
7 4 . L “ | *' .H @ -
\'u:-;)'-'_—." - =
E)

!
RN/

fonksiyonu hangi x deggerinde stireksizdir?
(For which x value, the function f(x) is discontinuous?)

A)-2 B)-1 )0 D) 2

=
i . |

Yukarida grafigi verilen fonksiyonla ilgili olarak
asamdakilerden hangisi yanlistir?

(Which of the following is incorrect, according to graph
of function above?)

A) f(3)=3

B) l.l_l’l:i_ (x4

©) lim f(x)=2

D) x=1 noktasinda fonksiyon sorekli degildir
(The function is not continuous, for x=1)

E) f(0)=3
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30) (ab) arahfinda her x degeri igin tirevi sifir olan
fonkstyonun grafifr asagidakilerden hangisidir?

(Which of the following does the correct answer for a
function with a derivative of zero, for each x in (a,b)?)

A)Y B) v, F
a b X a b X
Oy D) y
i ] m
\/ a b x

E) v,

31)

ilen f fonksiyonuyla

v gl leﬂentegetmegmn -1dir.
(the alope of the tangent drawn at x=0 is -1)
D) (-1.1) arah@inda f fonksiyonu azalandir
(f is a decreased function in (-1,1))
E) x>1 i¢in f fonksiyonu azalandir
(for x>1, fis a decreased function)

32) r'es

-y’
3
—/-———-4 :
Yukanda y = x* egrisinin grafigi veri
gore, tarali bolgenin alani kag birimkaredir?

(The graph of y=x’ is given below, what is th
colored parts?)

27
A) 12 B) 27 O

GIB,J f(x)dx mtcgralmm sonucu kactir?
i(x), what is the |, f(x) dx ?)

= 03 D) 5 E)12

34) A(0,0), B(2,1) ve C(3,-1) noktalanindan gegen ¢emberin
denklemi nedir?

(What is the equation of the circle passing through points
A(0,0), B(2,1) and C(3,-1)?)

A) Xy32xHy=0 B) x+y-2x-y=0
C) X 4y3-3x+2y+1=0 D) x*y2-2x+3y-1=0 o
E) X’ +y»-3x+y=0 .
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35) 39)

Arcall Area l

1. Bolge 1. Bolge

Area Il Area IV. & °

IIL Bolge 1IV. Bolge C

A(x,;y) noktasi dik koordinat sisteminde III. Bolgede
olduguna gore B(y,-x) noktas: hangi bolgededir?

(If the point A(x,y) is in the Area Il in the coordinate
system, In which area is B(y,~x)?)

A) 1 Bolge (Area I)
C) 111 Bolge (Area I1T)
E) Orijin (Origin)

B) 1. Bolge (Area II)
D) IV. Bolge (Area IV)

36) 2019 = x(mod3) olduguna gore x kagtir?
(What is x?)

A)0 B) | ©)2 D)3

(Among rec
which of ﬁ
rectan

A)l

sindan gegen ve 2x+3y-5=0 dogrusuna dik
olan dogrunun denklemi nedir?

(What is the equation of the line passing through point
ER L Aoy £ AL

Sekilde m (Aﬁ) =5x, m (6@) =7x ve m (i
nedir? (What is x?)

A) 10 B) 11 0) 12

[BC|=6 cm, |[CD|=4cm ve

D)2 E)%_

e
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L N 3 A
Sekilde [BN] agiortay, s (C) -s (A)= 100 ise s (BNA ) = x kag
derecedir?

(IBN] is angle bisector, what is x?)
A) 65 B) 75 C) 80 D) 95 E) 100
43) A

B C — D

3[EDI=IAE], |ABI=2 ve [BC|=12 ve [BDI=16 bigith ise' (ACE)
figgeninin alam nedir? '

yamukta verilen olgiilere gore x + vy kag

(According to the isosceles trapezoid given below, what is
the x+3?)

A)120 B)160  ©1I180 D)220  E)270

45) Sekildeki diizgiin alugende [AD|=4v/3 br ise bu alugenin
gevresi kag br'dir?

(|AD|=47\3 is in the regular hexagon below, what is the
perimeter of this regular hexagon?)

L
F ¢
A B
A)4vT B3I C

47) ABCD bir dikdortgen [BE]L[EF], [BE|=3|EF), |AF|=8br
ise (ABCD) dikdortgeninin alani kag br dir?
(ABCD is a rectangle, what is the area of ABCD ?)
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48) Sekildeki ABC ig¢geminin gevresi 36 br’din. ABC
tiggeninin i¢ tefet gemben ¢izilmigtir. 1¢ tefiet ¢emberin
figgenin kenarlanna degdigi noklalar sirasiyla D.E ve F dir.
|AF|=5 br ve |BD|=4 br 1se |EC| kag br’dir?

(The perimeter of ABC triangle is 36 br. The inscribed
circle of ABC is drawn. The intersection points of circle
and the sides of ABC triangle are D, E, F respectively.
What is |[EC|?)

A
F F
B D C
A)6 B) 9 )10 D) 12 E) 16

49) |

ircle’and two semi-circles above.
h;eetinnSmdﬂsamh

)30 D) 40 E)50

4z >k
Yukanda dizlemsel sekilde d/k dir A,

olgtilen x,y ve z, dir. %- =2 vex +y+z
gore x kactir?

(d/ % = 4;_ and x+y+z=1500

A) 15 B) 30

DIOEE EEE B |

52) Asagida verilen sek:lllen inceleyiniz. ‘Hangi akilf“
digerlerinden farklidir?

(Look at the figures below, which figure is different?)

A)
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53) Asapida Fatih'in bir hafla boyunca yapmig oldugu
telefon aramalaninin say1sini veren grafik goralmektedir
(The following graph shows the number of phone calls
made by Fatih for a week)

Pazartesi (Monday) TETE ()
Sali (Tuesday) - 'ﬁ" ) = -
Carsamba (chnesday) y) °@

Persembe (Thursday) 5 7T

Cuma (Friday) BE B

Cumartesi (Saturday) aTEee 0
Pazar (Sunday) TETTEET

Her @J simgesi 2 aramay1 gostermektedir.

Each symbol ’af_f shows 2 phone calls.

Buna gore Fatth bir hafta bovunca toplam ka¢ telefon
aramas) yapmisgtir?
(How many phone calls did Fatih make during a week?)

A)27 B)30 )40 D)50  E)54

54) As;:aglda verilen }mp ¢1ﬂleﬂm mceleym;z. _

is the same?)
| ~< 2 /£ |
P <DLk
. -
- @
U 7 < C
B)I-T1I C)1-111
I-1v

ch of the following number should continue with the
numher paﬂern above?)

482,693,714, 826,937, ?

A)148  B)203 €368  D)98T  E)99%

56)

Yukandaki iki gekil arasindaki ihgkiye gore a
hangisiyle eslestirebilirsiniz?
(According to the relationship between
above, which of the following figure mate

57) Asagda verilen sekilleri inceleyiniz.

(Look at the figures below)
I. Sekil (Figure I) 1L Sekil (Figure IT)
Q

L. Sekil ile I1. $ekil arasindaki iligkiye benzer olarak
(Similar relationship between the Figure 1 and Figure 2)

11 Sekil (Figure 11T)

q“ .

ile iligkili olan yekil hangisidir?
Which of the following figure relates to Figure IT1?)

A) % B) ‘

D) @
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58) Asagida verilen gekilleri inceleyiniz.,
(Look at the figures below)

[ Sekil (Figure) 1L Sclgil (Figure II)

Yukandaki 1ki sekil arasindaki ihiskiye gore asafjidaki sekli
hangisiyle eglegtirebilirsiniz?

(According to the relationship between two figures above,
which of the following figure relates to Figure I11?)

111, Sekil (Figure I17)

bir kopon agilmig

nets of a cube?)

60)
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i

onden, yandan ve Ustten izometrik

62) Asajada bir seklin
Bu seklin géruntgi asagidakilerden

gortntslen venmistir.

hangisidir?
(Isometric views of a figure from the front, right and top

are given below. Find this figure?)
Ustten(Top)

—

Onden(Front)

Yandan(Right)

Vo

64-65. Sorular
cevaplanacaktir.
(In questions 64-65, find the correct answer in
accordance with the following shape)

A F B
J

EK N
1

D

kogeleri isc 3
iizerinde yer
ctmekiedir.

he squarc ABCD is 8. The
'GH are on the midpoints of the
he square ABCD, The other square’s vertices are
nidp oints of the edges of square EFGH and in this

B) 2 C) 4 D) 6 E)$

65) Dokuzuncu olarak olusan karenin alam kag birim
karedir?

(What is the area of the square formed in the ninth step?)
1 1
N B 0l

n)%

E)4
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? isareth yere asagidaki sayilardan hangisi gelmelidir?
(Which of the following does the question marks stand
for in the figure?)

A)S B) 11 C) 17 D) 19 E) 25

"733 1y

Bir sonraki sekil asagidakil

(What is the fnllowmg fighire in the next step?)

68) Asagida gorantisi verilen bir yapinm farkl yonlerder
gorimamlerine iliskin gizimlerden hangileri dogudnﬂ
(Which of the drawings in different perspectives of the
figure below are correct?)

(Which of the figures given on the right side cannot cover
the figure on the left side.)

Sol Taraf (Left) Sag Taraf (Right)

BN N\

Al-2 B1-3 ©2-4 D)3-4 E)l-4
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70) Asagida sag tarafta venlen gekilden kag tanesi ile sol

73)
\araftaki sekil kaplanabilir? : : :
(How many shapes are given on the right side can cover
the shape on the left side)

Sol Taraf (Left) Sag Taraf Right) ' yykandaki dizilise gore bir sonraki sekil asapidakilerden
\ . hangisi olabilir?
(According to the pattern above, what is tl -

© O

A)2 B)3 04

71) Sol tarafta verilen sekil saat yoninde dondurtildiiginde |
numaralandinlms sekillerden hangisi elde edilebilir? '
(The figure given on the left side are rotated in clockwise, |
which of the numbered shapes can be obtained?) |

Sol Taraf (Left)

L

Al B)2

4) Sekilde gosterilen birim kare ile tiggen kaplanmaktadar.
- Uggen bu birim karclerden kag tanesi ile Kaplanmastir?
(The triangle is covered by unit. How many units are
used to cover the triangle?)

Birim Kare (Unit) Kaplanan Sekil (Covered Triangle)

A)7 B)8 C)9 D) 10 E)ll

.
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75) - [E] 5

Q > [ AE HE

lekgnd:]gl eﬂm;;ﬁg kullamlarak olusturulan sekil E‘

(Which of the following shape is formed using the above

parts?)
A) B) C)
(&

D) E) Yukanda verilen sayila
hangi say1 gelmelidir?

76) Asagndaki terazilerin 0g de dengede ol

terazide soru isareti ile gOsterilen yered

gelmelidir?

(All three scales below are in balanc

of the following does the question

third scale?)
=

bbb

=> > =

i

Yukanda kare seklindeki bir kdfdin katlamp. bir noktadan
delinmesi ayamalan gosterilmektedir. Kagt agildiktan sonra
asagdaki sekillerden hangisi olugur.

(The steps of folding and puncturing a square paper are
shown above. Which of the following shape forms after
the paper is opened?)

A)r B)[o Ols

i ab =

D)bba E)aaab

D) 0 E) o © . ;..-.

i
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A) Yalniz I (Only 1)
D) 1111

(In the following magic
horizontal and dlngon




